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REIES | 3w | TR AREY | BTN | KSR | A¥E| L L ny | R HE
1063620203 | BRFH S B | BhthExiczEEE THEE 85.8 90 64 75 314.8 1
1063620101 | {REEH] Z | ThERXRzEER TrREIE 88.2 67 62 63 280.2 2
1063620222 | T&HF Z | ThEXRzEER TrREIR 84.1 74 50 72 280.1 3
1063620112 | Z=IR%R B | WhHET B s IR THEIE 77.4 84 51 60 272.4 4
1063620220 | Z=£&15 Z | ThEXRzEER ITHEHE 82.4 69 53 67 271.4 5
1063620106 B3 Z | ThEXRzEER TrREIR 88.4 77 37 69 271.4 6
1063620102 | X2 B [ HiHhEiizEEE ITHEHE 78.5 72 47 72 269.5 7
1063620206 X33 Z | ThEXRzEER THEHE 88.8 71 45 64 268.8 8
1063620209 | B % B [ HTHhEiizEEE ITHEHE 86 87 30 65 268 9
1063620204 | skBiE Z | ThEXRzEER THEE 84.7 62 54 66 266.7 10
1063620114 |  #%kiE Z | ThEXRzEER THEE 77.3 67 44 73 261.3 11
1063620120 SR Z | ThEXRzEER TrEiE 79.1 55 59 67 260.1 12
1063620103 P B [ HiHhERizEEE TrREIE 81.1 62 39 78 260.1 13
1063620217 JSEES B [ HiHhExiizEEE TrREIR 79.8 71 35 67 252.8 14
1063620213 |  FLKIF Z | ThEXRzEER TrREIR 85.2 69 34 61 249.2 15
1063620214 |  H#A%A B [ HiHhERizEEE TrEiE 69.7 52 67 60 2487 16
1063620212 REE Z | ThEXRzEER TrEiE 79.1 69 37 63 2481 17
1063620109 I B [ HiHhEiizEEE TrREIR 79.4 75 24 67 2454 18
1063620219 | HME Z | ThEXRzEER TrREIE 85.4 48 43 68 244 4 19
1063620107 |  #11EE Z | ThEXRzEER TrEE 80 59 29 72 240 20
1063620205 |  ZFRILIH Z | ThEXRIzEER THEIE 84.8 55 43 57 239.8 21
1063620125 [FE Z | ThEXRIzEER TrEE 81.7 61 32 64 238.7 22
1063620211 KX+ Z | ThEXRIzEER THEHE 83.8 64 27 61 235.8 23
1063620201 3% B [ HiHhEtRizEEE TrREIR 81.8 67 19 66 233.8 24
1063620119 #&R B [ HFHhEtRizEEE TrEE 78.3 51 35 67 231.3 25
1063620104 | R B [ HFHhEtRizEEE TrREIR 88.6 60 21 60 229.6 26
1063620202 | EZxA B [ HiHhEtRizEEE TrEE 84.7 66 21 56 2277 27
1063620105 Z=E & Z | ThEXRIzEER TREE 88.5 46 31 62 2275 28
1063620117 | MFZA{X Z | ThEXRIzEER TS 84.2 65 22 51 222.2 29
1063620116 | E#HkAE | B | WHHERX@izE 518 ITREE 78.6 58 24 60 220.6 30
1063620221 ZEEZH& B | miHiERIEEE e IR T 75.4 59 25 61 220.4 31
1063620207 =581 Z | ThEXRIzEER THEIE 78.6 39 45 57 219.6 32
1063620121 k2 Z | e BIEE IR TR 80.7 48 25 65 218.7 33
1063620210 & Ef B | BhhEXizs el TR 78.5 47 25 66 216.5 34
1063620124 X|&Z B | BhthExizs e ITHeH 721 45 38 60 215.1 35
1063620113 | %R 5m 5 | BhhEeExizs e THEIE 84.5 49 23 58 214.5 36
1063620122 | SFIG%E Z | e BIEE BT THEE 78.7 40 29 66 2137 37
1063620216 | XRXIB Z | iThEXRzEER TEEIE 75.5 37 33 66 2115 38
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1063620128 ZR(RE Z | WhHhERXBIEEER THEE 83.1 33 28 66 210.1 39
1063620208 TR B [ HiHhEtiizEEE TrREIE 70.6 57 25 57 209.6 40
1063620111 [  Ki&sA B | g mzs =i TITRHEIE 75.4 43 28 60 206.4 41
1063620127 | & Z | ThERXRzEER THEE 76.5 48 23 57 204.5 42
1063620215 K35 Z | ThEXRzEER THEHE 75.7 39 33 54 201.7 43
1063620129 T Z | WHHERXBIEE SR TrREIR 81.2 38 29 53 201.2 44
1063620130 Z=WHFH Z | ThEXRzEER ITHEHE 80.4 37 21 61 199.4 45
1063620115 Z=4I B [ HTHhEiizEEE ITHEHE 75.2 44 22 55 196.2 46
1063620118 | EiIF B [ HiHhEiizEEE ITHEHE 73.8 43 25 52 193.8 47
1063620218 |  X3ni& Z | ThEXRzEER THEHE 75.6 30 24 57 186.6 48
1063620126 Z58 B [ HTHhEiizEEE ITHEHE 74.1 33 24 51 182.1 49
1063620123 | FREE B | BN Es s g THEE 73.4 41 16 49 179.4 50
1063620110 |  Zf5% 2 | mahthiE@czEEE TrEiE 68.7 42 17 51 178.7 51
1063620108 | KRBk 2 | mahthiEiczE R TrEiE 75.1 0 0 0 75.1 TR
1063621301 BIEH 5 BEEFZTRERA THEHE 87.7 79 26 58 250.7 1
1063621307 | FER 5 BEERZTERA THEHE 85.3 45 47 56 233.3 2
1063621303 Z=0IE 5 EEHE TERA TRHEE 72.9 63 33 58 226.9 3
1063621308 |  #MFE 5 BRI ERA TRHEE 86.7 58 38 40 2227 4
1063621306 | Wb = EEHE TERA TrREE 84.5 81 34 18 2175 5
1063621302 SREL 5 BRI ERA TRHEE 75.3 64 40 30 209.3 6
1063621309 F%E 5 BRI ERA TrREE 74.7 52 45 20 1917 7
1063621305 Vol 5 BRI RERA TREE 89.7 39 26 18 1727 8
1063621310 oK ST z EEEARE TR TrREE 84.1 34 29 24 171.1 9
1063621304 | FHEMK 5 BRI REFA TrREE 65.2 41 27 26 159.2 10
1063620307 | XREia z BfE% TrREIR 85.3 77 43 72 277.3 1
1063620229 1 z BfE% TrREIR 84.3 85 33 71 273.3 2
1063620306 Eﬂk%‘ 5 BfE% TrREIR 78.4 64 54 71 267.4 3
1063620302 %& L S BfE% TrREIR 77.3 76 45 68 266.3 4
1063620308 EE z BfE% THEE 81 81 31 71 264 5
1063620224 s‘uJ;‘:t\ z BfE% THEE 87.4 59 46 66 258.4 6
1063620309 |  #=FMm 5 BfE% TrREIE 83.3 76 33 63 255.3 7
1063620305 SeE 5 BfEa% THEE 87.4 81 22 59 249.4 8
1063620225 |  F&#EN = BfE% TrREIR 86 49 40 67 242 9
1063620304 | &XBE=F 5 BfE% TrREIR 85.2 52 36 66 239.2 10
1063620230 &WE 5 BfE% TrREIR 77.4 62 25 66 230.4 11
1063620227 | FRES =B BfEa% TrREIR 80.1 59 23 66 228.1 12
1063620311 Z=HiIR 5 BfE% TrREIE 79.7 58 23 64 224.7 13
1063620223  ZFAR =B BfEa% THEE 78.6 50 32 64 224.6 14
1063620301 ES z BfE% THEE 76.4 45 25 69 215.4 15
1063620226 |  #pedc z BfE% TrREIE 84.3 43 28 60 215.3 16
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1063620303 iKZEH % 25 =
1063620228 | =IE % %;g% %g % % 87143 39 37 64 214 17
1063620310 | GG & % FEara IFET =7 5 28 32 66 207.3 18
= rhH 3 ——— : 22 22
1063622001 | @wmMF | 5 2% 5 AR 1511 AR 89.3 = e
1063622006 |  FHE# Z B e 5 AR B 11 W5 T?lel 859 0 - i’ o .
1063620004 ke | % | REGRGEL s 51 o 58 14 121991 2
1063622003 | /B % RES RG] e 11’51_;1- 5o gg gé gi 342%.2 3
1063622005 | &l Z B3 D AR 0 ] 5 : 9 4
1063622002 | ELE | % §§E Egitgzl ﬁ’ gtﬁ gﬁ 53 19 64 223.2 5
1063621311  m® | & TEWNERA 'ﬁﬂé 70 = > o
1063621317 | B4 | & TENERA TEE 05 2 30 187 [ 1
1063621413 | =4 & BT SEiE 69.6 37 21 22 149.6 2
Y TEEN TRHEE 755 76 '
= . : 60

1063621403 | [RE¥x B TREEN TR = 5T 58 269.5 1
1063621423 | #fel= Z TRER TEEE =2 73 47 54 256.5 2
1063621404 it 3 TRER THEE = 68 43 57 2559 3
1063621418 | {9z & TRER IT%@E':‘EEE 6?2 77 36 56 254.5 4
1063621422 | = 2a4F & TRER I]‘%ﬁ’%ﬁ S 84 28 75 248.2 5
1063621424 | #RkiE & TRER THEE 88.7 73 72 34 246.6 6
1063621322 E B & TRER THEE 82.7 59 46 50 243.7 7
1063621316 EB%‘\*}F % I*E%i%,fﬁ Irg]_%fi 667 64 41 54 241.7 8
1063621409 7N & TRER THEE 66.3 87 31 56 240.7 9
1063621318 [ fEREHK z TREEN TrRHEE 850 > 62 52 237.3 10
1063621412 ;g']ﬁﬁk ;—; I*ﬂclii%_:_fﬁ Iﬁ'ﬂ_%fi 768 65 30 56 236.2 11
1063621425 R = TRREn THEE 87 83 31 44 234.8 12
1063621402 [  FEHM 5 TiEENM THEE 78.2 = 2 s 229 13
1063621405 | BE=i® & TIRERn THEE 75-7 66 49 34 227.2 14
1063621411 | #30THk I TIRER TEEE e /4 47 30 226.7 15
1063621417 | K %FiE 3 TEEN TEER =y 70 38 22 215.6 16
1063621319 X FF & TIRERn THEE 80.9 56 37 38 209.5 17
1063621406 73 & TRER THEE 87.5 54 55 18 207.9 18
1063621327 Z=ARIE = TIRER TEEE 62.3 66 22 26 201.5 19
106360317 5 h | & TEEL e 625 77 31 31 201.3 20
1063621323 | FEHitR | 5 T ITrEE 59.4 - 22 44 1939 | 21
1063621329 | mE | % TEEL e 094 47 41 42 189.4 22
1063621420 T3] = TEEL e 9.2 46 28 24 187.2 23
1063621414 | B I TRERN THEE =5 a7 30 20 1787 24
1063601315 AHE | = TEel e 619 45 25 40 1779 25
1063601416 T&E | & TEEl e 5.4 45 40 24 1774 26
1063621415 =iF 5 TRED TREE = 56 17 28 764 | 27
1063621328 Rl 5 TREN = 8.6 64 24 28 174.6 28
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1063621314 |  JEIRTAN 5 TSN TR 80.9 50 14 24 168.9 30
1063621330 ey B TEEN TrREIE 82.2 43 23 20 168.2 31
1063621324 AN & = TREEN THEE 67.1 38 19 43 167.1 32
1063621326 | F&RFE % TEEN TrREIE 68.5 40 28 28 164.5 33
1063621428 ol Tk 5 TREEN THEHE 70.6 44 29 20 163.6 34
1063621410 #%= % = TREEN ITHEHE 70.3 51 21 20 162.3 35
1063621320 fa] B2 5 TEEN TrREIR 62.8 42 29 28 161.8 36
1063621419 TEEH 5 TREEN ITHEHE 44 59 32 26 161 37
1063621421 48 5 TEEN TrREIR 75.8 47 20 18 160.8 38
1063621325 | V&= 5 TSN THEHE 65.7 58 13 24 160.7 39
1063621408 e Z TSN ITHEHE 74.5 40 22 20 156.5 40
1063621401 | R4 5 = TREEN THEE 79.3 39 24 14 156.3 41
1063621407 S ] TREEN TrEiE 70.9 35 27 22 154.9 42
1063621313 H4IH 3 TSN TrREIR 62.9 46 23 20 151.9 43
1063621426 | EER 5 TREEN TrEiE 71.6 38 17 12 138.6 44
1063621321 EiRM % TREEN TR 78.3 0 0 0 78.3 TR
1063621427 | skEEL = TREEN THEE 42 0 0 0 42 R
1063621430 BN = T Al=s ABK TrREE 89.7 75 35 20 2197 1
1063621501 [  #XhB 5 T Al=s ABK TrREE 75.3 55 25 24 179.3 2
1063621429 | 3K & 5 IJk?ILa%MSbi TrREE 64.8 52 38 20 174.8 3
1063622013 B B RIS HIE BRI 84.7 77 32 71 264.7 1
1063622010 1£,u = [ EET S HIE BRI 85.9 65 39 66 255.9 2
1063622012 | fRIER 5 IR 5EE W Z IR IT 82.2 73 30 64 249.2 3
1063622008 | X[k S [ EET S HIE BRI 89.7 50 37 64 240.7 4
1063622011 X=E 5 [ EET S HIE BRI 78.9 63 34 64 239.9 5
1063622016 HEE S IR 5EE W Z IR T 82.6 36 51 65 234.6 6
1063622014 |  $H# T 5 5T 5EE BRI IT 84.6 58 25 64 2316 7
1063622007 | S#ptriTr | B I E5ET 5 EIE W Zir T 83.9 46 13 65 207.9 8
1063622009 | Z=IhE 5 [ EET S HIE I FIRIFTT 82.4 42 27 52 203.4 9
1063622015 X x [ EET S HIE BRI 86 36 20 57 199 10
1063620312 | Z=EE1h T SNAE FRIHE 90.1 84 53 78 305.1 1
1063620323 | #HEHE B NS FRIHB 86.2 86 47 81 300.2 2
1063620329 | Kl =B IR FRIHB 87.4 75 56 74 292.4 3
1063620315 T S NS FRIHB 86.3 82 44 73 285.3 4
1063620326 | fEKIK S IR FRIEE 84 74 45 75 278 5
1063620403 | @I S NS FRIHB 82.5 68 48 79 2775 6
1063620321 RE#HE % X1 %ﬁﬁi* 84.9 80 37 72 273.9 7
1063620317 FwWE % X1 FEIHB 86.1 78 42 66 272.1 8
1063620324 | {a] & % X1 FRIHE 85.5 69 46 68 268.5 9
1063620327 R B NS FRIHB 83.1 82 27 74 266.1 10
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1063620313 #1383 B 3 S
1063620406 %Esjéi fz é}ﬁ fﬁﬁig =2 > o
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1063620328  #IEE Z Z‘X}E i*ﬁﬁig o5t o = - i e
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1063620401 | &£==E Z f‘x}g Ejéﬁﬁi%: 22 o2 22 o 05 I
1063620322 &5 | % Wi L 53 i 7 oo
1003620007 | BNAE | 5 e s T . % ey
1063620408 | fifrsl | 55 Z‘X}E i 755 z = ; 2
1063620325 LS 5 e Ejéﬁiﬁ%: e > : 67 oTs 2
1063620314 ,;-1;4 T §§T§ iﬁﬁig 2 >0 33 57 s e
1063620318 | Zox&E | % T Ti e B s T R
1063620404 | =% | % e e =9 g 5 IR
1063620405 |  15&rEE Z Z‘X}; iﬁﬁig o v 3 z irE .
1063620410 HH= | % Z‘X}g Ti e %09 % % s s
1063620319 | #BFHFH 5 f‘x}; %égﬁiﬁ L 20 - > 03 5
1063620411 RERN z Z‘X}; iﬁﬁig 5 o 2 2 1= -
1063622017 | skE%R 5 H\iﬁl%;g‘“‘—— A L] = : . v o 2
063622018 | kkn | 2 | SRR e Tes % i T
R - %i§§7$}i¢}“ W Z IR IT 86.8 43 46 > 2o 5
e = S A W Z IR IT 78.1 37 47 2 s :
e A - 2 e =it MEEE 871 85 71 T
1063620415 sKAEE] 5 i pasr o 2 = 5 e l
1063620500 | (=8B | & = T 22 786 88 >4 290613
1063620520 o] % B 5 i pasr o7 o - 7 o :
1063620417 FE 5 257 ey = = o L o 4
1063620419 | =& 5 257 pasr o 2 2 = oo 5
1063620530 |  #pF3E % i W%Eﬁ > > = 7 2o i
1063620523 | ZZcHE | 5 2 Piin) %5 % = I 5 7
1063620412 Ef&EW =B 257 W%Eﬁ e 3 >3 - o0 :
1063620508 | F&I#iTT % 257 W%Eﬁ oy 5 = : o0 9
1063620423 X¥E % i W%Eﬁ o = = c o m
1063620505] % | % 2 Ttii X s 3 R TR
1063620426 | #MFE | % 23 iy oo % & e A
1063620502 | REEFE | % A iy 13 % T r s
1063620430 | HAEBE | & A iy 5 3 - s s s
1063620414 BRX Z 257 ek 7 o - I
-~ A 62 47 67 275.2 16
. 65 55
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1063620518 BN | & =T =
1063620422 | #5/NGE = z_\l jﬂjg ,%% %é 79 47 61 268.4 18
1063620525 |  AIK Z 25T )n}% =5 o /9 37 69 264.6 19
1063620519 | fak | % =it W5 = 256 o2 31 /8 262 | 20
1063620522 | HMWTHE | & 231 WEEE 5 08 42 69 | 2586[ 21
1063620429 B = 2 )”\}f%%fi = 46 62 71 258.2 22
1063620528 | Wife Z =3F FaEE e /0 39 72 2569 | 23
1063620514 EY 3 =~F )”#%%fi 84.1 64 40 77 256.8 24
1063620511 GES 4 23T )n\ﬁ%%fi 79-2 71 29 65 249.1 25
1063620425 | AR [ % =~F B At o 63 38 68 2480 26
1063620510 EEE 3 23F )”\}f%%fi 75-4 61 24 70 243.7 27
1063620428 | Mk | & =~ F B At = 71 38 59 2434 | 28
1063620512 | XHF& | X =5F B A = 65 43 58 243.3 29
1063620421 | @ | & =5F BEa i = 70 26 67 2388 | 30
1063620503 | Tk | & =iF BT 517 2 22 66 | 2387 | 31
1063620524 T Z =5F ﬁ%%ﬁﬁ o ol 41 61 237.2 32
1063620521 | BmE | & it WE = = i a2 53 | 2314 | 33
1063620517 | FEM | %X 23 FEEg = 40 50 61 224 34
1063620501 | £ | & =3 WX 81 < 25 64 | 2232 | 35
1063620515 | 1B=H] | &5 3F BEa i = S5 32 58 2231 | 36
1063620529 | X[JEzE & T T = o 67 24 62 223 37
1063620506 | wHE | % =5 F BEai -5 53 24 63 221 38
1063620526 ] &XFF = =i EX =] ok 44 38 58 2169 | 39
1063620427 | He= 3 23F ﬁ%%%ﬁﬁ el 52 25 60 215.7 40
1063620527 | XA & =T ﬁ%%%ﬁﬁ = 48 32 56 215.3 41
1063620513 | ®BI%EHl | & 3T BEE=gE] > 48 24 59 2096 | 42
1063620420 | ZREX, Z =5F )n}%%ﬁ 55 56 20 57 205.4 43
1063620413 | Zxz= | B =5 F BEa i 53 43 20 54 1999 | 44
1063620507 T = 23F ﬁ#%%‘:‘fﬁ 81.3 49 25 56 199.9 45
1063620424 | M=% & =T )n}%%ﬁ oY 39 27 51 198.3 46
1063620516 | 1B N&& & =T )r'\;f%%‘:‘fi == 38 20 59 170.8 47
1063620504 | X == = 25F ﬁif%%:fi == 37 14 53 153.2 48
1063621506 | Zhp%E | & TME—ATER T=Em = 0 0 0 822 | wE
1063621507 | HBF | = B — AR THEE 57 5 48 74 286 1
1063621504 %% = SRR S 621 71 40 40 2337 |2
1063621505 | BB | = B — AR THEE ST 06 43 49 | 2318 3
1063601502 2N | & SRR et 851 48 62 32 22711 | 4
1063621503 | #He=m | & B —E A THEE e 12 25 28 2072 | 5
1063621511 | J7%Y E3 AR = - 53 46 28 2036 | 6
1063621513| ZneE | = e, Laei? 824 76 31 75 | 2644 | 1
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1063621519 yE AR 5 BN IERA TrREE 85.5 56 36 22 1995 3
1063621522 B 5 BRIESAK THEE 83.7 54 33 26 196.7 4
1063621516 & 5 BRIEFA TSR 71 45 50 30 196 5
1063621512 H=E 5 BRIESK THEE 57.4 55 29 50 1914 6
1063621514 B3 5 BRIERA TrREIE 77.8 53 25 28 183.8 7
1063621520 EBE#ST 5 B TR A TrREIR 78.1 38 49 18 183.1 8
1063621509 i I 5 BRIERA TrREIE 70.6 45 42 22 179.6 9
1063621508 &EF 5 BT A TrREIR 82.6 50 20 26 178.6 10
1063621521 ok MR 5 BN ILERA TrEE 66.5 42 45 22 1755 11
1063621510 k&ZE= 5 BRIESK THEHE 66.9 60 28 20 174.9 12
1063621523 | Lz 5 BRIERA TrREIE 79.5 53 7 34 173.5 13
1063621518 | ER#&Z | x« B LERA THEE 61.8 48 26 34 169.8 14
1063621517 | BB =B B LERA THEIE 66 49 23 30 168 15
1063621515 F=HF 5 B TERA THERE 65.7 34 15 20 134.7 16
1063621526 =5 = BELT TrREIE 73.1 77 38 28 216.1 1
1063621525 5K 5 = BT TrEiE 91.6 70 22 26 209.6 2
1063621527 | X[&EI&E 5 EHRLT TrEiE 83.1 45 27 28 183.1 3
1063621524 =5 B BELT TrREIE 81.3 49 22 28 180.3 4
1063622025 |  RIBH = EIRE AR BRI T 88.1 77 65 75 305.1 1
1063622115 ZFIE S EIRE AR o ZIR KT 91 79 48 69 287 2
1063622026 | EIIR S BR=ENIR W BRIt 87.5 66 56 71 280.5 3
1063622021 & % ENE NI W Z IR IT 91.6 49 75 64 279.6 4
1063622111 ¥R AR 2] BERENIZ W ZIRIR T 84.1 74 51 69 278.1 5
1063622101  EZENFK S BERENIZ W Zir T 93 52 66 66 277 6
1063622030 =R = BERENIZ W B iRt 90.8 55 61 66 2728 7
1063622028 | FEFH 5 feg fﬁiwm- o ZIR KT 81.7 72 48 70 2717 8
1063622107 |  FEfm{S = BERENIZ W BT 87.1 63 59 57 266.1 9
1063622022 X% 5 BERENIZ W Z IR T 83.4 57 48 62 250.4 10
1063622105 X /B 5 feg fﬁiwm- o ZIR KT 76.1 61 45 67 249.1 11
1063622110 LFEFL 5 BERENIZ o ZIR IR 80.4 50 44 62 236.4 12
1063622102 | #EP=F 5 EINE AR BRI IT 86.6 48 43 56 233.6 13
1063622108 2=\ 3 ng AT W e IRIR T 85.9 49 33 63 230.9 14
1063622027 | {FiEt= EoS HE NIKT W BRI IT 87.3 49 37 55 228.3 15
1063622103 =it 5 mg = NIX 1 BRI IT 85.3 51 29 60 225.3 16
1063622116 | #H=FHB 5 BRENIZ W e IRIR T 81.5 40 39 56 216.5 17
1063622023 FRIR 5 BRENIZ BRI IT 91.1 45 24 56 216.1 18
1063622020 | Z=EARN 5 BRENIZ W BRI IT 87 41 23 62 213 19
1063622029 | 3Kk %7% % BRENIZ o ZIR T 90.8 38 31 53 2128 20
1063622112 BEBK S BR=ERNED o ﬂfum 89.6 44 24 51 208.6 21
1063622114 B % BR=ERNED o B IX T 88.8 35 23 60 206.8 22
%7, P

~




7

P4 T ER MY 52 B 20205 T FH AR B I AL SR /A 7

1063622113 T 5 ER=ERNIEIT WAL IRIT 89.4 33 26 56 204.4 23
1063622109 | %k 5 BERENIZIT BRI 82.7 44 21 56 203.7 24
1063622106 =E B BERENIZIT BRI 76.9 39 29 58 202.9 25
1063622024 HHE B ERENIZIT W BT 91.4 30 25 55 201.4 26
1063622104 TE = ERENIZIT BRI 86.6 18 26 57 187.6 27
1063621602 B 5 B LiERK TrREIE 83.6 66 20 28 197.6 1
1063621601 oK B 5 BREm TRERA ITHEHE 70.7 59 25 18 1727 2
1063621528 |  XT¥UT 5 BRI LiERK TrEE 77.4 51 28 16 172.4 3
1063621529 B 5 BREm TRERA ITHEHE 76.9 42 16 20 154.9 4
1063621530 FRA 5 BREm TRERA TrREIE 734 33 28 16 150.4 5
1063620602 | MES z SREE WMEEE 87.7 78 70 80 315.7 1
1063620614 ngﬁ z SREE MEEE 83.9 82 53 76 294.9 2
1063620607 |  #&XJLAL = SEEE WMEEE 93.4 67 66 67 293.4 3
1063620609 H% =B SEEE MEEE 82.6 75 63 71 291.6 4
1063620620 | BEE 5 SREHE =g 73.6 68 69 77 287.6 5
1063620601 | IBEFiE = SREHE [PES=FE 88.4 69 52 74 283.4 6
1063620606 | T & & z SEEE MEEE 85.9 81 28 73 267.9 7
1063620618 FI5 z SEEE MEEE 86.4 64 46 71 267.4 8
1063620610 | N FBRE 5 SRIETE MEEE 83.3 79 36 67 265.3 9
1063620616 | [RER=F 5 SRIETE EX=g] 777 65 51 65 258.7 10
1063620611 | {FHE:# 5 SREHE e =t 90.3 72 43 52 257.3 11
1063620622 | B 5% % SREE =3 77.2 83 19 69 248.2 12
1063620617 |  =&IHHR S SRS =3 86.6 57 38 62 2436 13
1063620605 Z= 4] 5 SREHE & &E18 86.5 57 37 62 2425 14
1063620621 % &= 5 SRS =3 815 64 27 69 2415 15
1063620615 | L&k z SRS MEEE 89.9 52 33 55 229.9 16
1063620619 | &= z SEEE MEEE 86.6 51 40 51 228.6 17
1063620603 | [&RImiE 5 SRS =3 73.9 56 37 60 226.9 18
1063620613 | EEFREE 5 SREHE =3 83.9 46 22 55 206.9 19
1063620612 | KIRIE C SEEE MEEE 55.2 52 26 65 198.2 20
1063620604 | XBiEE % SRIEE Ve 48.6 33 26 60 167.6 21
1063620608 |  R7F{E 5 SRl EIR [PES=FE 40.2 29 38 60 167.2 22
1063620626 | sk HHA EoS BIEEE TR 81.5 77 44 76 278.5 1
1063620623 | EM& = HEEE ITHeH 83.1 79 44 63 269.1 2
1063620627 |  Exiin 5 BIEEE TR 79.8 64 39 72 254.8 3
1063620628 | HEt % BIEEE TR 82.2 72 18 61 233.2 4
1063620625 | k¢ 1& S HIEEE ITHeH 82.6 51 27 60 220.6 5
1063620624 | = oS BIEEE TR 75.6 34 18 48 175.6 6
1063620630 | & % ZERSEEE TrREIE 77.3 56 60 65 258.3 1
1063620629 | SEFiEm z ZERZEEHE ITHEH 745 74 46 63 257.5 2

FB8I, #1661




PO 1[4 A ER AV 2 B 20204F T FH AR i Bl 55 /A TR

1063620702 EBxi z TR EE =
1063620701 =Mk | & ggig 2%% %g ,%% g‘ig 42 36 67 2255 3
1063620703 | =/ | % EERALER TEEE e 24 46 59 [ 2109 4
1063620708 ﬁlaﬁ S A= I%%IE 915 59 23 61 194.8 5
1063620705 | =% | 5 R T =5 79 56 70 296.5 1
1063620704 M:J[ﬁ & R I%%f@ 83.3 55 85 78 285.9 2
1063620713 | Aoz | & ST TEEE =5 40 72 72 2673 3
1063620712 SR Z R I%%f@ 78.5 70 36 76 261.2 4
1063620707 B Z EEEE I%%f@ 89 48 45 63 234.5 5
1063620709 25 &= EEEE I%%f@ 255 43 32 67 231 6
063620706 | WmE | & LAt i 59 43 36 86 | 2309 7
1063620711 EA £ R I%%f@ 48.1 30 50 66 227.5 3
1063620710 | =.EFLFA = R I]_:]_ 5 55-2 53 29 65 195.1 9
1063622121 FHdF | % ZREE == - : 35 20 21 1312 | 10
EARHEE A SP 85.9 73 )
1063622110 | HB#& | % ERRE T 2 89 |2r7o| 1
1063622118 B3 B EAHEF e 1%uxr 83.9 22 ol 74 270.5 2
1063622120 0% | = EREE ) 1%uxr 80.7 T e 51209 2
1063622117 I Z ZXRE ) fq'z:Lle 89.7 48 57 60 245.7 4
1063621603 N | & | AZEEHSKE THE 0 872 i 3 oL el O
1063621604 | Ff5%s | B | A= SMRS THEE 69.2 = % e BEE L
1063621605 T | 2 | AZEMEBRERA THEE X >3 20 28 [1702] 2
1063621620 | k=X | B | LGk nHEHREBERA TR 508 o4 25 38 236.7 1
1063621613 | #EA | 2 | AXBEASARERA THEE 87.2 5 T e BT
1063621621 | S0 % | & | AZuALARLA THEE 87.5 s e e B
1063621618 | &EEL 5 | REZHS%EBEAR TRER 86.2 = 2 2 208.5 4
1063621614 Bz 5 | AFIEHSHEERA THEE 85.1 & 7 = 252 2
1063621606 | HEfh | B | aiah SBERA THEE 813 > = 32 120274 6
1063621608 | &% | B | AR ERBERA TREE 877 - 1 24 119631 7
1063621623 T¥% | B | AEBASHEREA TREE 848 3 2 22 18974 8
1063621607 | Wm@ | B | AZmMEBERA THEE 506 2 33 16 118881 9
1063621611 kALY | 2 | AGmALEERA TREE 503 - 23 22 | 1846] 10
1063621622 fa% | B | AEmALBRERA TREE 356 = 21 26 | 1843 ] 11
1063621609 F/hE | B | AEzmShiERA THEE — 20 16 32 1836 | 12
1063621612 | 2% | B | AL BALEERA ThHER S5 48 30 16 | 1814 [ 13
1063621610 W& | B | AHaBmEERBERA THER T8 42 21 18 [ 1696 | 14
1063621615 | %A | = | ALEALEBREA THER o 22 19 12 | 1648 [ 15
1063621619 | Wiz | 5 | AZzMoBERA THER 59.9 > 21 20 161 | 16
1063621616 | =4 | B | ALEBLBERA THER 906 2 2 26 11609 1 17
1063621617 #Z:,le‘s 2 | AEEALRERA TEEE i 8 g; %g 145.6
37 = < -
1063621701  #fs 5 | AFEFIESERIA TREE 92 82 56 50 12289(51 1
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1063621629 | EfE=F 5 REFESERERA THEE 77.1 63 56 71 267.1 2
1063621702 | &= B | REFESERFAK THEE 62.6 58 25 77 222.6 3
1063621703 | MEF B | RAEFHESERFZA TREE 85.1 78 27 26 216.1 4
1063621624 B3 5 REFESERERA TrREIE 79.8 70 43 18 210.8 5
1063621628 Fai 5 REFESERERA THEHE 89.8 46 29 44 208.8 6
1063621625 ZFjsksh 5 REFESERERA TrREIR 74.6 59 35 26 194.6 7
1063621627 | B B | AEFESERFA TrREIR 85.7 51 22 32 190.7 8
1063621630 | fa&&E 5 REFESERERA ITHEHE 73.9 45 22 42 182.9 9
1063621706 | &SR 5 REFESERERA ITHEHE 89.5 49 23 20 1815 10
1063621707 o8 5 REFESERERA TrREIE 81.1 45 26 26 178.1 11
1063621705 5 B | BAEFEESERFAK TREE 89 48 17 22 176 12
1063621626 | Z=Is%E 5 REFIESERERA THEE 67.5 39 22 28 156.5 13
1063621704 |  1aJ{E & 5 REFESEREA TrREE 83.3 0 0 0 83.3 TR
1063620719 EE% 5 ANTEEHE TrEiE 77.2 74 62 68 281.2 1
1063620720 XIEH S ANTEEHE TrEiE 88.2 70 46 77 281.2 2
1063620715 BEX 5 ANTEEHE TrEiE 89.4 72 25 70 256.4 3
1063620718 | FHEE = ANTEEHE TrREIR 79.4 65 19 65 228.4 4
1063620721 [ZES S ANTEEHE TrREIE 85.4 61 16 62 224.4 5
1063620717 | # v E = ANTEEHE TrEiE 75.7 65 22 57 2197 6
1063620714 Sk 35 S ANTEEHE TrEiE 713 41 41 65 218.3 7
1063620716 | =8I = ANTEEHE TrREIE 55.7 32 28 51 166.7 8
1063621821 | DFEEf 5 BHERA HENRZEERAK 84.6 79 39 71 273.6 1
1063621901 T = R EEFTN HEVNRFEREA 81.8 82 19 69 251.8 2
1063621824 | R % 5 BHERA HENRZERAK 88.4 73 39 50 2504 3
1063621802 | &3 5 RGN HEVRFEREA 74.1 70 43 56 2431 4
1063621814 | EHE 5 R EEFTN HEVNRFEREA 76.9 72 30 64 2429 5
1063621820 | Z=giE = R EEFTN HEVNRFEREA 84.6 69 28 58 239.6 6
1063621805 | EEEIE = HERA TENRFEEREAR 75.9 66 38 55 234.9 7
1063621819 [RiEH = RGN HEVNRFEREA 83.9 61 16 73 233.9 8
1063621827 | BHRE = HERA TENRFEEREAR 65.9 72 46 49 232.9 9
1063621908 | KRZB%4 5 RGN TEVNRFERA 65.9 63 30 73 231.9 10
1063621816 FESR 5 ENCET N ITENRIZESEAR 81 74 53 20 228 11
1063621817 | BEZRE 5 BHERA TEYRZSERA 86.4 57 28 50 2214 12
1063621818 BB = HHERA TENRFEEREAR 79.9 64 31 40 214.9 13
1063621822 XRAR S BERA TEYRZSERA 75.3 69 39 30 2133 14
1063621828 | MARfT B NEESEN TENRFEEREAR 86.9 70 33 22 211.9 15
1063621905 TEER 5 BERA TEYRZESERA 87.3 67 35 22 211.3 16
1063621806 BE3 5 ENCET N ITENRIZESEAR 76.1 60 31 36 203.1 17
1063621809 | ®XIB3E 5 NGRS N TEYRZSEEAR 75.5 60 21 46 202.5 18
1063621811 REZT z NGRS TN TEYRZEREAR 79.1 56 39 27 201.1 19
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1063621903 [EES 5 INGETEN HEVRZESEEAR 82.1 60 18 38 198.1 20
1063621810 5 5 AR TENRZESHEAR 83.2 55 34 24 196.2 21
1063621815 ok = z INGETEN HEVRZESEEAR 76.8 59 25 33 193.8 22
1063621807 |  Z=3%)1] 5 INGETEN TENRZESEAR 84.3 51 27 31 193.3 23
1063621823 | 1EEML 5 ENEEEN HEHRFESFEAR 74.4 60 22 36 192.4 24
1063621829 E 5 INGETEN TENRIZESEA 75.3 55 28 34 192.3 25
1063621826 | @SP4T = S AR TEVRZESEFA 82.8 71 16 22 191.8 26
1063621909 EE 5 S AR TENRZESHEA 73.9 56 25 32 186.9 27
1063621813 R4 IS 5 INGETEN TENRIZESEA 75.1 53 27 27 182.1 28
1063621825 | BEHA 5 R EEFTN HTEHRZESFEAR 61.9 51 32 32 176.9 29
1063621904 7w 5 S AR TENRZESHEA 76.3 39 32 28 175.3 30
1063621906 |  faJZk#A 5 INGETEN TENRIZESEA 79.7 49 22 24 174.7 31
1063621804 =% 5 BAERA HEVRZESEFA 77.6 40 35 21 173.6 32
1063621830 KE= 5 BMAERA TEVRZESEFRA 69.4 45 25 34 173.4 33
1063621910 JEXHL = ST TEVRZESERA 73.6 45 20 32 170.6 34
1063621907 |  F&R{EAR 5 ST TEVRZESERA 74.1 36 36 20 166.1 35
1063621808 HE S ST TEVRZESEFRA 79.1 34 22 29 164.1 36
1063621812 F¥5 = BMERA TEVRZESERA 73.9 41 24 25 163.9 37
1063621803 7 FH =B BMERA TEVRZESERA 61.1 50 26 22 159.1 38
1063621902 | A& ZE =B BMAERA TEVRZESEFRA 74.9 0 0 0 74.9 HRE
1063621801 M5 5 BMERA TEVRZESEFA 71.6 0 0 0 716 HE
1063620804 | =%k 5 THED THEIE 78.1 70 48 70 266.1 1
1063620808 B} = TIHEH THEHE 78.3 72 45 68 263.3 2
1063620727 | Z=EEE = e TREE 73.8 81 36 71 261.8 3
1063620802 | FEXkFR ES e THER 86.7 59 43 68 261.7 4
1063620807 | B&E% % THED THEIE 84.1 66 35 71 256.1 5
1063620730 ZER 5 TIHEH TrEE 77.8 61 53 59 250.8 6
1063620722 | HETE 5 T EE TREE 76.9 62 29 75 242.9 7
1063620805 | FEFEH 5 T EE THEHE 74.2 81 21 64 240.2 8
1063620724 |  ZREENI 5 HiZ e TREE 75.5 60 32 67 234.5 9
1063620726 | B ~3® = mHEHE TrElE 734 71 30 60 234.4 10
1063620801 FI S mHEHE THEE 82.6 53 38 59 232.6 11
1063620811 | [XZEE) 5 mHEHE TR 89.5 54 25 64 2325 12
1063620725 EFX =B mHEHE THEE 84.4 55 31 62 232.4 13
1063620803 | T EHE = mHEHE TrREIR 78.1 49 37 61 225.1 14
1063620810 |  #>} = mHEHE TR 83 44 23 70 220 15
1063620728 5 S mHER TrREIE 79.7 41 25 62 207.7 16
1063620723 X EE S mHER THEE 79.8 35 26 61 201.8 17
1063620806 | ZIrtE % T EHE TrREIE 87.5 31 18 59 195.5 18
1063620809 |  #%fEh =] mHEE TR 68.8 43 31 49 191.8 19
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1063620729 B 3] e TRHEE 30.3 40 36 61 167.3 20
1063621911 BEH 5 B N AR TTEEZE FERA 86.2 66 30 59 2412 1
1063621915 [ = B N AR HEVRZESEEAR 89.7 63 28 48 228.7 2
1063621912 B 3 5 B N AR TENRZESEAR 87.5 56 22 52 2175 3
1063621914 | =41 5 WEE I N AR HENRZESEAR 77.9 40 26 55 198.9 4
1063621913 e 5 LEATINIGES®N TENRIZESEA 67.3 36 27 38 168.3 5
1063620820 @IZ%HE z WREE ITHEHE 83.8 77 64 71 295.8 1
1063620821 EfIE oS REE ITHEHE 84.2 83 30 79 276.2 2
1063620815 | =5y 5 MREH TrEE 83.6 72 51 66 272.6 3
1063620826 | =E# 5 MREH TrEE 83.1 68 43 70 264.1 4
1063620824 | #iEE oS D= TrEE 81.8 77 35 66 250.8 5
1063620827 K+ = MREH TrEiE 83.9 76 33 66 258.9 6
1063620813 | #%EFT 5 MR TREHE 87.2 69 24 68 248.2 7
1063620819 HEEE 5 nEiE TREE 65.3 82 19 69 235.3 8
1063620823 | #/%=H S MAREE TrREIE 75.3 61 36 60 232.3 9
1063620825 | EEA%E 5 MAREE TrREIR 83.3 56 17 70 226.3 10
1063620814 EFE 5 MAREE TrEiE 82.7 44 39 59 2247 11
1063620817 S = YmEIE TREE 77.2 68 16 63 224.2 12
1063620816 Eti] = MAREE TrEiE 744 57 23 69 2234 13
1063620812 | #HEE= =B WREE TREE 73.2 41 43 61 218.2 14
1063620822 R 5 MAREE TR 65.7 51 35 62 213.7 15
1063620818 G =B WREE TREE 72.5 47 17 58 194.5 16
1063620828 |  ZEmFE z N =5 TREE 86.3 69 32 70 257.3 1
1063620829 | EERE % MV EHE TrEE 83.2 75 21 73 252.2 2
1063621714 | HEE 5 MEEBRERA ITHeHE 77.2 76 59 76 288.2 1
1063621711 g /]\&a] 5 RS ES ER A TRHEE 79.2 81 39 78 277.2 2
1063621713 BBH 5 RS ES ER A TR 82.5 73 18 56 229.5 3
1063621708 Z=H®X 5 RS BS ERT A TR 84.9 63 28 38 2139 4
1063621709 | sk &SR 5 RS ES ER A TREE 80.8 63 23 40 206.8 5
1063621716 | T)I1IZk 5 RS ER A ITHeHE 81.5 44 46 26 197.5 6
1063621710 Z{E#K = HEERERA TrREE 77.3 50 21 32 180.3 7
1063621712 EEN 5 HEERERA TREE 74.3 38 17 48 177.3 8
1063621715 #F4E 5 HEOERERA TREE 79.4 36 23 22 160.4 9
1063621921 R= 5 FRLZe5E1E TEYRZSERA 81.2 80 36 80 277.2 1
1063621917 |  BRAR#T 5 SELZE5EE TEYRZSERA 91.1 66 47 62 266.1 2
1063621922 | &=y 5 %Eﬁ?@'—ﬁ%ﬁ TEYRZESERA 86.9 69 40 42 237.9 3
1063621920 |  sk5HB 5 Exe 58 TEYRZESERA 74.5 63 36 46 219.5 4
1063621924 BRE 5 1% %\;ré 5%18 TEYRZSERA 81.4 50 26 40 197.4 5
1063621918 =2F 5 FEze 581 TENRFZEEEAR 67.8 59 20 24 170.8 6
1063621923 &EHK 5 FEze 581 TENRFZEEEAR 58.9 47 30 18 153.9 7
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1063621919 (e = FEEZE5E1E HEHRFESFEAR 66.6 41 22 22 151.6 8
1063621916 | T K& 5 FEEZe5E1E TENRFZEEREK 355 37 19 36 127.5 9
1063620915 | EHE 5 FRIHE FHIEB 93 75 55 73 296 1
1063620916 | ZRfkE B FRIBE FHIEB 81.8 76 59 77 293.8 2
1063621114 FHFE = FRIHE FHIHB 85.7 82 52 70 289.7 3
1063621001 | sk&HiE = FRIHE FHIEB 80.5 83 57 69 289.5 4
1063621214 BFMWX z FRIHE FHIEB 86.7 82 50 70 288.7 5
1063621005 | KW EHEEE = FRIHE FHIEB 86.5 73 46 83 288.5 6
1063621029 T z FRIHE FHIEB 85.4 92 47 63 287.4 7
1063621113 | Rl = FRIHE FHIEB 84.8 74 58 69 285.8 8
1063620021 |  XBiEF] = FRIHE FHIEB 86.7 80 50 68 2847 9
1063620009 | EWE = FRHE FHIEB 88.9 73 50 72 2839 10
1063621212 E3E z FRIHE FRIHE 84.6 75 53 70 282.6 11
1063621206 | R X% = FRIBE FERIHE 83.6 72 55 71 2816 12
1063621022 &PE S FRIBE FRIHE 85 78 55 63 281 13
1063620913 /Y = FRIBE FRIHE 79.2 70 63 68 280.2 14
1063621202 | XfEFE | = FRIBE FERIHE 85.1 70 52 69 276.1 15
1063621107 | KE= S FRIBE FRIHE 88 68 51 69 276 16
1063620830 E¥FE | & EE FRIHE 91.6 79 34 71 275.6 17
1063621006 | % E% % FHIHB FERIHE 86.9 59 52 77 274.9 18
1063621106 | T eI S FRIBE FRIHE 81 73 53 67 274 19
1063621120 |  ZEE z FRIBE FRIHE 87.6 73 37 74 2716 20
1063621018 | EZ148 S FHIHE FRIHE 83.6 74 51 61 269.6 21
1063621108 | &z z FRIBE FRIHE 84.9 75 39 70 268.9 22
1063621217 Z=F3F S FHIHE FRIHE 81.5 77 36 74 268.5 23
1063621215 EBRX— S FRIBE FRIEE 83.1 65 49 71 268.1 24
1063620901 B z FHIHE FRIHE 90.9 72 29 76 267.9 25
1063621030 |  RIPIR S FHIHE FRIHE 77.8 86 28 76 267.8 26
1063621103 AP = FHIHE FRIHE 89 71 43 63 266 27
1063621208 | /%= B FRIBE FRIHE 88.9 79 25 73 265.9 28
1063621014 THE EoS FHIHE FHIHB 84.7 79 34 66 263.7 29
1063621003 H3F= EoS FHIHE FHIH B 82.7 66 47 68 263.7 30
1063621128 |  BEE S FHIHE FRIHE 86.6 60 42 75 263.6 31
1063621127 REEHR 4 FHHE PRI B 81.3 65 47 70 263.3 32
1063620903 | & &% z FHIHE FRIHE 90.2 69 26 78 263.2 33
1063620902 | & an S FHIHE FRIHE 89.4 64 43 66 262.4 34
1063621021 Z=#& S FHIHE FRIHE 86.3 68 36 66 256.3 35
1063621025 | AWER S FRIBE FRIHE 84.3 61 47 64 256.3 36
1063620906 | =41~ EoS FRIRE FHIEEB 86.1 75 27 68 256.1 37
1063621011 | Z=FAE S FHIH B FHIEEB 87.4 79 18 71 255.4 38
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1063621121 EmiE | &% T T

1063621115] EGZ | % :}%g— ig%%i o 53 42 70 | 254.7

1063621112 | =8 #H | & THE T Ses 69 32 69 | 2542

1063620904 | ET/NE | % S S - 69 34 65 253.3
R H FHRIHE 84.1 55

1063621216 XNt % AT TS ' 95 59 253.1
PRI B FRIAEB 85.8 57

1063621220 Aix | % TR s T ) 49 61 252.8

1063621219 [ #HXE T T Lt : 67 32 70 252 4
al] F R B FRIHEB 83 55

1063621111 | T ¥m S FHBB e 5 49 65 252

1063621123 | W2 | % e TE : 65 39 61 2474
oY PRI D FHIAE 84.2 68

1063621110 | STZ13& Z = = e o = - 22 73 247.2
== PRI B FRHE 90 63

1063621010 =k B S S 30 64 247
Y 73 BB FHIA B 82.9 75

1063621015 | BE®E | X SETHB TR 555 25 62 244.9

1063621204 | FEE Z TR ik ot : 48 40 67 2447
- ~HIZE( B FRHE 85.1 45

1063620914 NS % A TS : 50 62 2421
LB B2 5 FRIAE 85.4 53

1063621205 | o n Z SZETHE TEHE 517 35 68 2414

1063620928 | %5 7 s e : o7 24 69 2412
X F R B FRIAE 84.5 47

1063621104 S z EASE e o : 43 66 240.5
~HIZE( B FRHE 86.8 74

1063621129 EIA Z SR E o T - 18 60 238.8
= FHIE B FRIHE 83.6 47
== ~HIZE( B FRHE 84.6 55

1063620918 | Tk | X TR R L : 26 71 236.6
~HIZE( B FRHE 80.3 59

1063621016 |  H/\IE Z e e T - 29 68 236.3
B Z( B FRIHE 82.8 61

1063621130 | __ #% & ZEHE T E 1 35 57 2358

1063621009 | EBE £ T i kol : 62 35 54 235.2
= FRIAE FRHE 83.9 65

1063621109 | T 4EEE Z S L - 1/ 69 234.9
b FHIA S FRIAB 82.9 60

1063620923 FE s S Sy : 34 57 2339
= FHIA S FRIAB 82.1 56

1063620920 =& % 7 SR e : 29 66 233.1
A FRIZB FRHE 85.1 54

1063621013 | X e T RE e 1 33 61 233.1

1063621116 | Bis | & TERE e : 34 49 65 232.7
o FRIZS FBIAE 80.9 51

1063621211 | &1§ Z SZETHE S - 35 65 231.9
- FRIZS FBIAE 84.1 57

1063621210 %= B SR e o = - 26 64 231.1
oHS 77 FHIEH FRIAE 80.9 67

1063621209 | k1% = ST S : 27 56 230.9
7 FRIZ B FRIBE 83.7 60

1063620012 | 0% Z B T B 23 64 230.7

1063621125| W% H | & TERE Lo n : 46 36 59 230.7
£ Vi FHIEH FHIAB 85.9 49

1063621218 X Z T S e 1 33 62 229.9

1063620907 | #AAIA [ % SR e : 49 28 67 229.1
: FRIZ B FRIBE 88.8 48

1063621105 | EK Z FBB S E ' 32 60 2288
, FRIE B FRHE 84.5 44

1063621008 | %EZ Z R ST - 32 68 2285
FRIZ B FRIBE 83.6 55

1063621203 | %&ime | & TEHE T T 23 66 227.6

1063621102 #&R | & e %‘—ﬁﬁi;ii:‘ = gg 53 66 226.6

: A ‘—“L‘— . ._\_1_.’ - 4
1063621024 | MaEE | % e ST =3 > 2 2471 2222544
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1063621119 Z/\iE B FRIHE FHIEB 88.9 53 22 60 2239 79
1063621221 | E&M 5 FRIHE FHIEB 82 56 26 58 222 80
1063620922 | FEX B FRIHE FRIHE 84.3 29 42 66 221.3 81
1063621126 | ={EmW z FRIBE FHIEB 85.3 46 21 68 220.3 82
1063621101 | ERX&EI= = FRIHE FHIHB 85.8 37 29 68 219.8 83
1063621026 BT = FRIHE FRIHE 83.1 56 20 60 219.1 84
1063621213 =k % FRIHE FHIEB 85.2 54 23 56 218.2 85
1063620927 EDi z FRIHE FRIHE 85 43 29 61 218 86
1063621201 X&FF = FRIHE FRRB 84.7 59 22 52 217.7 87
1063620908 o1& z FRIHE FRIHE 79.2 54 21 63 2172 88
1063621004 | & Z FRIHE FRIH B 83.8 49 21 63 216.8 89
1063620917 P& % FRHE FHIEB 86.3 39 32 59 216.3 90
1063620925 | =FRIE S FRIHE FRIHE 85.8 41 26 63 215.8 91
1063621122 KEL z FRIBE FERIHE 81.3 49 25 60 215.3 92
1063621023 ] % FHHE FRIHE 84.4 44 17 68 2134 93
1063620926 X P = FRIBE FRIHE 87.4 40 16 70 2134 94
1063621012 | L& z FRIBE FERIHE 79.1 57 17 60 213.1 95
1063620929 |  =RkfE S FHHE FRIHE 82.6 50 21 58 2116 96
1063620924 ¢$ﬁ oS FHIHB FRIHE 82.2 40 26 61 209.2 97
1063621019 Z? \/ﬁ S FRIBE FERIHE 87.1 35 26 59 207.1 98
1063621027 | K% S FRIBE FRIHE 81.6 42 21 61 205.6 99
1063621002 15%@77? S FRIBE FRIEE 78.6 50 21 56 205.6 100
1063621017 | EFAB = FRIBE FRIHE 83.4 39 30 53 205.4 101
1063621117 | ZER S FHIHE FRIHE 80.4 50 16 58 204.4 102
1063621007 |  fEBE z FHIHE FRIHE 80.2 38 32 54 204.2 103
1063621118 K S FHIHE FRIHE 80.7 45 21 57 203.7 104
1063620919 I EE = FRIBE FRIHE 86.6 44 18 55 203.6 105
1063620910 | RekjE S FRIBE FRIHE 84.4 39 25 55 2034 106
1063621207 | FEE15 oS FHHE FRIHE 82.6 38 15 62 197.6 107
1063620905 B3 = FHIHE FRIHE 83.2 36 25 52 196.2 108
1063621124 Ees S FHIHE FRIHE 82.5 34 40 38 194.5 109
1063621028 | EAFH 5 FHHE 2B 77.8 36 23 57 193.8 110
1063621020 | PR/INE Z ZEHB —Y—HIJ%( 5 82.4 35 19 50 186.4 111
1063620930 E3 S FRIBE FRINE 80.6 38 16 51 185.6 112
1063621925 | i E 5 BydEREA ITEVRFZEREA 83.9 68 19 61 2319 1

1063621926 | ftRApIH ES BadEREA ITEVRZEEREA 84.6 64 37 43 228.6 2

1063621927 | ZIB#E 5 BadEREA TEYVRZE SR A 84.6 41 21 23 169.6 3

1063622122 |  #XBr1A % ZARIRIT W BRI IT 89.9 84 64 72 309.9 1

1063622123 2 T = ZARET o eIk 1R IT 86.4 61 75 74 296.4 2
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